HEE#rRDFI

— 1 m/sec
HRSITERE ZE1.5/m
ZE KIE<
BESHESHE] =K1 0.5~1.0m/sec
oYY aAd—I\— i fEE D TR EN IR
B — N EEAGM 3.0~5.0m/sec
S P21 B BEJE - X—/\— 0.5 A/m
60 - B EA A OB DR = 0.125A/m
o A DH KGR RSB gt 22 AR S
400~450°C FHNR WEE L SR EE R
K EEEESO SR ST RS
KR & m
B EE 1 BE YK \ BV X 8 ~N=or/V)Ld=Z—— BEERES
5 SR + M B 5SS - REs EDEA Bk
R b BEQ s e HEE ] = - (F=&E)
e R < @ mnaswpL
FEIREEE HER
r7E RVWO BT~=E (K7) & TE~BEERE
3073 LU _EMrife FleEIR BR =
ot B HA D ODIE f& EX DB ZhiE —EHorgZMEL D PP
NKFFICHAUEBRZE +i0E
- e 2 JoHIRERE
B ERA DR A E R < INERSIE S 2 7 L — - i
EV ¢ IZ l/_ — EEE i\2
WAR EORNZESD T JAN —
KHI & 2 BRICRIFRAD BoX - BORETE PAERTRT
XHF vV IN—FH 5 Fe. /\JLO=— FERERS 1EQ
TimARFEH S 25em _E [ (e B BE
E FRENDELEER KX

N

~
e



